

11

1. \_\_\_\_\_:  $\frac{\omega R}{\sqrt{2}}$ .  
 \_\_\_\_\_:

$$U = \omega \sqrt{2r^2 - 2Rr + R^2}.$$

$U$   $r^* = R/2$   $\frac{\omega R}{\sqrt{2}}$ .

2. \_\_\_\_\_:  $g$   $2mg$ .  $g$

\_\_\_\_\_:  
 $2mg$ ,  $2\sqrt{2}mg$ .

$g$

3. \_\_\_\_\_:  $\sin \alpha = \frac{1}{\sqrt{3}}$   $35^\circ$ .

$$m\sqrt{gL} \frac{2}{\sqrt{3}\sqrt{3}} \approx 0,9m\sqrt{gL}.$$

\_\_\_\_\_:  
 ( )

$T$   $mg/\sin \alpha$   $\alpha$

$$\frac{mV^2}{L} = T - mgL \sin \alpha = \frac{mg}{\sin \alpha} - mgL \sin \alpha, \quad \frac{mV^2}{2} = mgL \sin \alpha.$$

$$\sin \alpha = \frac{1}{\sqrt{3}}$$

$$V = \sqrt{\frac{2gL}{\sqrt{3}}}$$

$$( \quad ) \quad mV \cos \alpha.$$

4. \_\_\_\_\_:

$$0, 0$$

$$E^2 R / (R + r)^2$$

\_\_\_\_\_:

1-2

$$I(\varphi_1 - \varphi_2),$$

$I -$

$$\varphi_1 - \varphi_2 -$$

$$1 \quad 2.$$

$$I = 0,$$

$$\varphi_1 - \varphi_2 =$$

$$0, \quad I = E / (R + r) \quad \varphi_1 - \varphi_2 = ER / (R + r).$$

5. \_\_\_\_\_:

$$\frac{\sqrt{2} + 1}{2\sqrt{2}}.$$

\_\_\_\_\_:

$$T = 2\pi \sqrt{\frac{L}{g}},$$

$$T' = \pi \sqrt{\frac{L}{g}} + \pi \sqrt{\frac{L}{2g}}.$$

:

1-2